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covirament oF viany HIGHER SECONDARY FiRsT YEAR CHEMISTRY

Unit Hydrocarbons

P A

' ' ) CH, (CH, Br

L Choose the best answer. bICH [ CJ-I.IJ!. Br

L. The cormect statement regarding the ) CH,(CH,}, CH(Br)CH,
comparson of staggered and eclipsad d) CH, - (CH), - CH (Br) - CH,

condormations of ethane, ts [ NEET) |

CH
1) the edipsed conformation of ethane +
s more stable than stagpered 4 The C - H bond and € - C bond in

i v A P ethane are formed by which of the

eclipsed conformation has tersional following types of uverlap

strain. 3) 5p— s and 5p* - 5p°
bjthe  staggered  comformation Ry -wiley:

of cihane s mome stable <) sp - sp and 5p - 5p

than  edipsed  conformation, dip-sandp-p

because stapggered  conformation

has no terstonal strain. 5. In the following reaction,

CH

¢) the slaggered confermation ;

of ecthane & less stable than Br

eclipsed conformation, Ti’

because staggered  conformation

has torstonal strain. The mator product obtained s
dithe staggersd  conformation g o,

of othane & less stable than .;é b) Br

eclipaed conformation.

because stapgered conformation

has no farsional stran. CHE CH,
1 GH, 8r+ 2N St cp csé ol &

2NaBr The above reaction Is an example

mEshach el lntion 6. Which of the following & optically
a) Reimer Tiemann reaction achive

b} Wrtz reaction e

) Aldol condensation b citnic acid

¢) Glyceral
) pone of of Lthese

d) Hoffmann reaction

3. Analkylbromide (A ) reacts withsodium
tn ether to form 4, 5- diethyloctane, the

Y



7

10.

1L,

The compounds formed al anede In
the electrofysis of 2an aquous solution of
potassiam acelate are

3)CH, and H,

b} CH, and CO,

<) CH, and CO,

djclﬂ'amiﬂ]

The general formula for cyclo alkanes
a)CH byC H_

aCH,. dCH,,

The compound that will react mosl
readily with gaseous bromine has the
formula (NEET)

DCH, bl CH,

< CH, d) CH,

Which of the followtng compounds
shall nol produce propene by reaction
with HBEr Mllowed by elemination
for) only direct elimination reaction
(NEET)

)/

b)CH, - CH - CH_-OH
HLC=C=0

d)CH, - CH,- CH Br

Which among the following alkenes
on redoctive ozonolvsts produces only
propanane ¥

a} 2 - Methyl propene

b} 2 — Methyl bu — 2 - ens

¢} 2, 3 - Dimethyl but - I - ene

dy2, 3 - Dimethyl bat - 2 - ene

12. The major product formed when 2 -

brome - 2 - methy]l butane s refluxed
with ethanolic KOH s

13

14

15

ia.

e

2] 2 - methyibut - 2 — ens
b) 2 - methyl butan - 1 - ol
<) 2 - methyl but - | - ene
d) 2 - methvl butan - 2 - ol

Major product of the below mentioned
reaciion Is,

(CH), C=CH, 2,

a) 2-chioro ~1- todo - 2 - methy] propane
b) 1-chloso-2-kedo-2-methyipropane
<) 1.2 - dichloro - I - methyl propane
d) 1, 1 -dulodo - I - methyl propane

The TUPAC name of the followtng
compound 1s

c
CHAH,
“e=¢”
N
HC

a) trans-2—chloro-3-lodo - 1 - pentene
b)cts-3 - odo - 4 - chloro - 3 - pentane
<) trans—-3-tpdo—4-chlom - 3 - pentene
d}as-1- chlora- 3 - lado - 2 - pentens

(1= — 2 - batene and trans - 7 - bulens
are

a) conformational 1somsers.
b} structural somers

<) configurational lsomers
d) optical somers

[dentify the compound (A) In the
following reaction
CHCH, o

i) ZoH O



17.

18

19.

20,

b)

COOH

CH, - CH_ 1A CH=CH,where A &,
I |

c} d)

Br Br
ayin b) Conc H,S0,
) alc. KOH o) dil H 50,

Constder the nittation of benzene ustng
mixed con H,50, and HNO, if a large
quantity of KHS50, 15 added to the
mixture, the rate of nitration will be

a) unchanged b) doubled
) fasler ) slower

In which of the following molocules, all
atoms are co-planar

a)

m

d} both (a) and (b)
Propyne on passing through red het
tron tube gives

CH,

aj
A CH,

21

CH,
b)

C
CH,
“@c&l
CH.

d) nune‘ufthese

~CH=CH,

T
CH,-CH=CH,

a) @

Cl
c
o
b

c) both (a) and (b}
L&)

CH,-CH=cH,

d)

Which one of the follewing 1s non

) ()
d]D

o2

Which of the fllowing compounds will
not undergo Friedal - crafts reaction
eastly ? (NEET)

4] Nitro benzene b) Toluene
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) Cumene d) Xylene
Some meta-directing substituents in
aromatic substitiution are gtven. Which

one s most deactivating ¥
a) - COOH b) - NO,
i)-C=N &) - SOH

the halide component for friedal - crafts
reaction 7

a} Chloro benzene
b) Bromo benzemne
) chioro ethene

) 1sopropyl chioride

. Analkanetsobtatnedby decarboxylation

of sodium proptonate. Same alkane can

be prepared by

a) Catalytic
propens

b} action of sodium metal on
lodomethane

c) reduction of [ - chioro propane

d) reduction of bromomethane

hydrogenation of

- Which of the following ts aliphatic

saturated hydrocarbon
aCH, biC,H,
ACGH, d) All of these

. ldentify the compound 'Z In the

following reaction
CHO—0, x O, y 20, o

a) Formaldehyde
b) Acetaldehyde

¢) Formic acd d) nome of these
. Peroxide effect ( Kharasch effect) can be
stdied 1n case of

afOct- 4 - ene b) hex - 3 - ene
) pent - | - ene d) but - 2 - ene

2 - butvne on chlorination gives

a) 1 - dilore butane

b 1. 2 - dichloro butane

C} li lr z} 1- tﬂtl'i{h]ﬂm'bm
d) 2 2 3, 3 - tetra chloro buiane



